Rk 2 84

frRiRNRARERERRHAH PR






BRE285
2 SFEMIT AT RUEREERNAIREHTE

TRk 2 SEEMyrEH OB EREERENSFTOTEIL.

RIZEHDEZAITLD,

(MARETE)

15 BARHTEORAEIL. BARDETNTH
493, 000THEEDS,

2 WMABHETEOKEORDERUVOEER T ZEOLHEIL. 15
1 ERARHETE) TX5.

(—FEA®)

24 HWAEBKBE (B2 2EFERECTE) 23550
SE2EHOHEILLSD —KHEALOEANOREEAIIL.
10, 000FTHEED S,

R 2 842 A 2 2 HIZH
R o 15

- 253 -



F1ER BARHTE
A

% 5 & #

T B FH

R = nE E R 361, 596

1 R R ‘ 361, 596

A& I 127, 566

: —ﬁ&%%ié 127, 566

e 2,127

1 e ; 2,127

LN - 1,711
1 R, MASKUEH N 100 |

t 2 EE@ROEMNES - 930

’ 3 miRée ’ 681

- m A A 493, 000

- 254 -




1 REETER 19, 993

2 e g = 7,996

B“H B A ERLEGE S A4 461, 081

1 %“E¥EhFERLES WS | 461, 081

Hxie o 930

1 BReROENMES » | | 930

Flt 3, 000

1 TlE# | 3,000

I Hi & H ' 493, 000

- 255 -







PRk 2 8RR

AN EA3 Ly e
FPRHICHEHT 2 85 HFE






RN TR EE R E

1 # &
(% A)
5 | REETEE  MEETEE W %
FH FH FH
% BB E SRR IR 361,596 316, 186 45, 410
C YN | 127, 566 135,537 AT, 971
| |

ke 2,127 2, 562 A435
EAI N 1,711 10,715 A9, 004
® A & 3 493,000 465, 000 | 28, 000

3
|

- 259 -



|
|

(& H)

#* AEETHE  MFETEHE @ & B

FH A T
|
1 REE 27,989 54, 540 26, 551
2 #HEEREERLBESHT S 461, 081 406, 530 | 54, 551
_ R I
) l !

3 #XHée 930 | 930 0
4 TH#E 3, 000 3,000 0
B & g 493,000 465,000 | 28, 000

- 260 -



2
S
g
o
=

I S %

27,989

461, 081
930
3,000

0 493, 000

- 261 -




H  OKEETEE W AEETEE B %
+m T +m
1R PR A B sk 223,261 197,362 25, 899
2 WEERGE - msms uss 19,511
z W 361, 596 | Mwwgw, 186 45, 410

23K #BAE
1 —RESiHEAE

| FEBRAS \ | 30, 308 47,855 A17, 547
2 RBRERLERNE 97, 258 87, 682 9,576
3 127, 566 | 135,537 AT,971

3 Mg
11 &Ese

1 B i 2,127 2,562 A435

§ | 2,127 2,562 N435

- 262 -



o R 5 B
x &5 & #| ~ - -
FH - |
1 FeRl U ORBR 223,261 1 FRBIBIRREEL 223, 261
| FE R o
£ 223, 261 FH X 100.0%
| BRI E 136,838 1 BUARME 5 M R (AR 136,838
‘ FE RARE (=UNES
U Rkt 139, 574FH X 98.04%
o RERE T 1,497 1 Wy I (R  qa7
FE RIATE U
Gk VPSS 4, 236 FH X 35. 34%
1 BEEERAE 10, 909 1 FEERAE 10, 909
2 BERGES Téf, 399 1 BEREESFEAS : 19, 399
NS |
1 R E 97,258 1 {%Bﬁ%ﬁi—iﬁu\é - 97,258
BAL |
1 &iis 2,127 1 BIEESSE 2,127

- 263 -

%M m i BRI SR




435 FEA

118 E&. MEE& R OEE

H AEETHEE AEETHEE e B
““““““ M £m £m
1 & 100 100 0
B w0 10 0
43 FEINA
218 f(EEERVEMMES
1 REEEHER 4 900 900 0
2 BEIMES w37) o 30 B 0
o 930 N Mégb? 0
EXS BN
3T HiE&
1 iRks 681 638 3 43
2 o 681 6%% 'WMMM»*QW
473 FEILA
IH HEA
HEA 0 9,047 A9, 047
2t o o047 A9, 047

- 264 -




i o

X 4 @ & | ’ - -

| F i

1 EH4A | 100 | 1 MEES 100
1 {RBRERR 4 900 1 (REEREH S 900
| BANES 30 1 EMmMES 30
1 g4 681 1 iR A 681

(BEH)

- 265 -

& Wi BRI SR




B

a4

13 BEE
11H KBEEREE
| Kﬁfi%%%ﬁ@ﬁ#mﬁwgﬂm
H REETEE TEETEE K 5% K E i) B -
| ERxme  mrE | zof
T FA| T T T T T
1 —REHE 19,993 31, 088 All, 095 19, 993
) N_%;m.»_ 19,993 31, 088 An,ogsrif 0 19,993; 0
13 WwWEE
218 HUNE
i
1 g 7,996 23, 452 A5, 456 { 7,996
s 7,99 03,452 15,456 0 0 7,99 0]
23K #“HEEREERLAEESWHTE
118 #EEHEERLBESHMSE
1 BEESE 461,081 406, 530 54, 551§ 461,081%

- 266 -




s - B ]
FH . - - g
2 okt 8,120 1 —MXBEAMF% 19, 399
2 RHERETERESRE
3 BETFYE 5,621 e o
4 HEE R 2, 658
- %% o —
11 EH% i 114
12 ®’EE 461 |
9 itk 2 1 BNELE 7,996
11%‘%%% 737
12 Bk 1,169
13 ZIeE 137
14 ERRROE 5,051
ikt |
19 A&, #bh 461,081 1 ?&,ﬂ;ﬁéﬁ%%@fﬁrﬂiﬁiﬁé\%ﬁ(ﬁ 461, 081
RO 4 |

- 267 -

% = tm A SR R = 5




23k BEmERE ERLBESWTE

1IE %R ERLSE S &

; ¥ $1E€9%7ﬁ<nﬁiﬁiw R
B AEETHEHE ATEETEE L3 k¥ iE ,% b R
- i IR ZH4e Hh 5 (& ot W‘
| [ ¥ FH M M FM Fm
= | 461, 081 406, 530 54,551 0 0 461, 081 0
3 HEXH&
11 EE&KOCEMINES
1 fREEENER 900 900 0 900
&
2 BfHINE4E 30 30 0 N 30
= 930 mwééb? 0 0 o 930 )
43 TiHEE
1 TEE
1 TliE# 3,000 3,0002 oé f 3, 000
B WWEJM) 3, 000 B? o 0 d 3, 000 o *Em

- 268 -




UEI518

K 4 & g
R TH +H V
23 WELHITR 000 1 (RBELEAA | 900
OEI3
23 EEAHTE 0 1 BHMES - Ty

% o E R AR =R
- 269 -







w5 8 B oW &






—

W &
& 5 - ¢ *FEE & B
X & | BEE Tw M B B | mETY 2t
(FF) (FM) (FH) (FF) (FF9) ()
B FEE 3 8,120 8,621 16,741 2,658 19,399
B FEOE 4 14,315 11,566 25,881 4,636 30,517
8 Al A 6,195 A 2,945 A 9,140 A 1,978 A 11,118
K4 EREFY | HBEFY S FTY | HFEEE | HREAASE | BEXTFH
7 (FMH) (FFH) (FM)| #FH4FH) | FEEFH) (FH)
=] {é" & FEOE 78 1,181 298 4 290 2,025
» AR Al FE 312 1,463 449 4 817 3,655
I 4 A 234 A 282 A 151 A 527 A 1,630
GHMEY ([ EBBRFY | EBEFY| REFY
(FM) (FMH) (FM) (FH)
1,246 3,157 162 180
2,109 2,517 240
A 863 640 162 A 60
(2)REE R VB F U EORBEHEORM
B 4 |BBECFM#EBEBAMNNE (TH) o8| (FM) f# z
WEMEDORI
A b Hprir 1 LR BEE REXR 0.33%
RSEERD A HAHEN  TR2TE4N 1R
FEE  HER A2.8%
Ehgr TR28%E4H1H
EEARG IS MRV 3.13%
281
@ K A 6,105 iﬁ@&:{%t@m 281
BEORSAOIBESS [BEOREMNRR
A 6,242 (RICERTIRER) (Fof) GDH
ZOMMOEERS A 6,242 xR EE 3A A 3A
BB 4N AN 4N
BB A1A A ALA
HBEWEORI
=S 407 A ST FR2TEARTR
A R TERK28%E4A 18
@AMy
BEFY A 2,945 " 134
F DD .
A 3,352 FOMDEERSY
R4y A 3,486

- 273 -




() # B R U B F H ORI

7 BB NGRS AR 5l ISR
S 5 7B W % 5 17 E;k i
. [H1=E R
YRR A KR (M) 260,825 24 N (%)
ER27TEIAIBRRE | VKRS AEE) 306,094 8
T E R 33.00 7
SRR E R B (HD 294,775 ‘ 6
TR266£128 1ABE | T s A (M) 364,580 P27 5 1 95.0
¥ E BRGR 33.09 12A1H 4
I 3 1 25.0
1 IHERE 2 2 50.0
H o & B 1
/ S [\
xa EE 17 B % i 4 100.0
Rz 149,000 M 144,600 M 8
KEZE 183,300 M 176,700 M 7
6 1 25.0
FR26%F 5 1 25.0
12A1H 4
- 3
2 2 50.0
1
# 4 100.0
GRAOE BB NE)
X 4 8 #& 7 % 6 #& 5 #& 4 #% 3 % 2 % 1 %
g\ § R R FEEE S
s Bl 2 N 5 T ES
R ER | B R BE | Ew8 | @xe EE | BEE | yhem | m &
BiZ

- 274 -




& B 2 B &
=3 & B -
T B Tk
L4 = E=e (A) ON 3 3
* BRI B K (B) (N) 3 3
154 (A)
F ) 28 (N
EHEMNAR
354 (AN
B 454 (N) 3 3
E £ B A (%) 100.0 100.0
3 B % (A) (N) 4 4
- RGIRIBEH (B) (A) 4 4
184 (A)
£ 1 28#% N
EHEMAR
354 (A)
B PPN 4 s
k£ B /@A (%) 100.0 100.0
4 HRFY SHFEY
I X MR xRS X ® ¥ B mﬁf;’@&%\ BED
65 (A4 128 (A4 (H49) HEILOMAHE
EE 2.025 2.175 4.20 H
iE:=: 4 1.975 2.125 4.10 "
E ool g 2.025 2.175 4.20 "
B EERBE ORI RSB TF Y
K 4 208t | 258 | 35FEHE | BRERE DD & =
DOEHD) |(DEHEDNOEHED) (A4 mERES
KHpE%E .| 2555625 | 34.5825 49.59 49.59 | EFATEHLRRREHIREE (2% ~20% M%)
(ggg) 95.55625 | 34.5825 | 49.59 49.59  |EAEAT RELREISRIEE (3%~ 45% M%)

- 275 -




* HURFH

X 5 |[EoRELER

ER-poE 3:0k9 o2
X H OFE (%) 14
TR EBREH (N 3
BofEEkscE
SCERE %) 16
7 BHESEFY
R £ B » B B
X 5 e B B
17 B W

HEHREIC T A HE (%) 0.1 0.1
KRB OHE (FRE27TH12H 1 B EHIE) 25.0 25.0
REWLBEHRSEFLOLT RIREHEIREE Y
o EOMOFY

= g D 2] =

#woo @ oW

HERFY B C

EEFY m U

BEFY 2225

73R BAFE A (2, 000 ~31, 600M)
R 4y SkmiB

A5@A R (2, 000 ~25, 710M)
HEEX Sy 2kmfE

- 276 -






